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INDUCTION AND INDUCTANCE
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18) Ans :C
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19) Ans :E

When north enters the coil, the current in the coil flows so that the end A of the coil is a
north pole. When the magnet moves away from end A, the direction of current
reverses in the coil and end A behaves like a south pole. At the instant when the
midpoint of the magnet is in the plane of the loop, induced current at point P, is
essentially zero.

20) Ans:E

As the area of the loop projected on a plane perpendicular to the field decreases, Lenz' Law tells us that
indnced current will flow so that the induced field will inerease the flux through the loop. However, as the
aren of the loop projected on a plane perpendicular to the field increases, Lenz’ Law tells us that induced
current will fow so that the induced field will decrease the fiux through the loop. These are opposite
directions, so the indnced current

alternates between clockwise and counterclockwise.

21) Ans :D
22) Ans:B
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